Name/ID#: Date:___ Period:___

(Quiz) Factoring Quadratic Equations
For Multiple Choice(MC) problems choose the best answer. Choose one and only one
answer.

(1) What are the solutions to the equation 22 + 5z = 367

r=4orx=-9
r=6orxz=—6
r=-3orx=12
r=—-4orx=9
r=3orx=—12
(2) What are the solutions to the equation 2z% — 3z = 57
r=—-050rx=5
r=—-lorxz=5
r=1lorx=-2.5

r=1lorx=5

r=—lorx =25

at are the solutions to the equation z? + 3z — 6 = 127

r=—-lorx=4
r=1lorx=—-4
r=-3orx=256
r=3orx=—0
r=-3orx=2

=

at are the solutions to the equation —x? + 7z = 127
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r="Torx =12
r=—Torx=—12
r=3orx=4
r=—-3orx=4
r=-3orx=4
(5) The length of time required by a high-speed printer to print a large set of documents
is given by the equation
2 — 3z —54=0
where x is the time in hours. How many hours are required to print the set of documents?
2 hr
3 hr
6 hr
9 hr
18 hr
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(6) What are the solutions to the equation z? + 6x — 7 = 07

O z=-Torx=1
O x=lorz="7
O x=—-lorzx=7
O z=—-lorx=-7
O x=6orx=-T7
(8) What are the solutions to the equation 322 — 27 = 07?
O z=3o0orz=-3
_ _1
O z=-3orz=3
O z=9o0rz=-9
O x=9orz=-3
O :cz%ora:zQ
(9) What are the solutions to the equation z? + 7z = —127
O z=-3orz=4
O x=6orx=2
O z=-3orx=-4
O x=—-6orzx=2
O z=3o0orzx=-4
(10) What are the solutions to the equation 2x% + 5z — 12 = 07?
O z=-2orz=-4
O z=-2orz=4
O x=3orz=4
O z=3orx=-4
O x=6orz=2
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